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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 88, 124
SRR T
= 1 52,977
ISR UBE
= 1 52,977
AR — AR
FRE 3 3,920 11, 760
AR — AR
(&)
FRE 1 5, 881 5, 881
FEEREZER
FRE 3 3,601 10, 803
FEEREZER
(&)
FRE 1 5,401 5,401
WEEER
FRE 3 3, 064 9,192
WEEER
(&)
FRE 1 4,597 4, 597
A SR 2tHE
FRE 3 1,781 5, 343
e
= 1 35, 147
RImE T
= 1 35, 147
ZRFE AR B LAR
A
= 1 18, 595
AR B LAR
B
= 1 16, 552
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
B T HE
= 1 88, 124
B ST
= 1 32,417
BT e ¢
= 1 2,947
BUGERRYCEE (5 1)
= 1 2,947
HimEp R (FE L)
= 1 29, 470
Wi
= 1 120, 541
BTk X=giiv oy
= 1 89, 394
R 5]
= 1 209, 935
— e
= 1 45, 477
W ZRER
= 1 2,917, 588
Tk
= 1 3, 173, 000
THE B 2 %8
= 1 317, 300
TG
= 1 3, 490, 300
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 43, 628, 835
JE T
= 1 361, 660
I L
= 1 33, 310
I +H
m3 100 333.1 33, 310
2N
= 1 328, 350
PR (L) B -
m3 50 6, 567 328, 350
LR
= 1 652, 460
TA77 v MR EEA & T
= 1 652, 460
NoyFur OERLET 2770 MEA 4 (13FH) &
MA
t 10 65, 246 652, 460
Pk A iE ) T
= 1 795, 270
LI
= 1 795, 270
5 CT-B300-L500
e 80 2,970 237, 600
5 SG2T-300-1995
e 30 18, 589 557, 670
fo N
= 1 72, 140
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
fE N
= 1 72, 140
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 10 7,214 72, 140
5 e At L
= 1 2,117, 050
FEARI B AT 1
= 1 708, 100
=8 V= Gr=A-4E(J" =77 79)
m 50 14, 162 708, 100
5 1E Al T
= 1 1, 408, 950
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 50 11, 137 556, 850
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 50 9,932 496, 600
EMZARNEEN ¢ 100 L=200
L 50 7,110 355, 500
TR L
= 1 2, 134, 680
N T
= 1 2, 134, 680
TR VARY VA PANNY VAR G
e 20 106, 734 2, 134, 680
T A R A% 1
= 1 3, 746, 010
B AT R L
= 1 3, 746, 010
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THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
AR e e DLSA-5 (= Hdt5A) J i 55
ZN 50 17, 156 857, 800
TR R AT DLSA-5 (27— MaEA (R FLETe)) J
Tl S5
ZN 50 21, 949 1, 097, 450
HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
ZN 40 21, 485 859, 400
HLHR 53 AT H=650 w] 282 (ZR FL2C- LACHD)
ZN 40 23, 284 931, 360
AnT=h L
= 1 2,356, 173
Wik e 1
= 1 2,356, 173
fEE LA &Y Y 0 AETIE~ RS 0. 25m3
K Vvt hevin kv - 8k
7 B i LR AT
&) 3 785, 391 2,356, 173
I
= 1 14, 241, 350
AT
= 1 138, 850
TR BCA
m2 500 277.7 138, 850
R T
= 1 14, 102, 500
R A A
m2 500 28, 205 14, 102, 500
(LSS
= 1 667, 400
Bty ) -}
= 1 667, 400
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Favy)-h 18-8-40BB W/C=65% t=10cm
m2 200 3,337 667, 400
SRR T
= 1 10, 658, 550
ISR UBE
= 1 10, 658, 550
AR — AR
FRE 1, 000 3,944 3, 944, 000
AR — AR
(&)
FRE 100 5,916 591, 600
FEEREZER
FRE 100 3,623 362, 300
FEEREZER
(&)
FRE 10 5, 434 54, 340
WEEER
FRE 900 3,083 2, 774, 700
WEEER
(&)
FRE 400 4,625 1, 850, 000
A SR 2tHE
FRE 200 1,791 358, 200
A SR 458
FREH 100 2,716 271, 600
Ny s (v-v ) AtFE 2.9t
FREH 100 3,041 304, 100
FAM 2000cc
FRE 100 1,384 138, 400
K 7 0 £250mm £ E5FE 10m
H 50 128.4 6,420
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
FE R 3KVA
H 5 578. 1 2,890
&ML T
= 1 792, 952
5 3 A 2= 1
= 1 397, 752
B s (™ —=h v-n) Gr-A-4E
m 80 1,438 115, 040
B s (™ —=h v-n) Gr-B-2B
m 80 1,736 138, 880
[T CRERT - S5 74 B LA s | P1-1. 1-3. OF
m 80 1,099 87, 920
[T CRERT - S5 74 B LA s | P1-1. 1-3. 0B
m 80 698.9 55,912
Pk IE i T
= 1 212, 300
R = ES PUT-B300-1.2000
m 100 2,123 212, 300
B AT R e R S T
= 1 182, 900
HURR S AT ZEFLEC (LA
ZN 100 1, 829 182, 900
e
= 1 5, 033, 140
RImE T
= 1 2, 349, 800
AR B 90 A H
A
= 1 1, 683, 720
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
S i 10N
B
= 1 666, 080
RIEE BT
&
= 1 2, 683, 340
ZRFE AR B 60 A H
A
= 1 1, 684, 020
S i 10N
B
= 1 999, 320
B T HE
= 1 43, 628, 835
B ST e ¢
= 1 5, 388, 137
B ST ¢
= 1 506, 002
BUGERRYGEE (5 1)
= 1 506, 002
MR R (L)
= 1 4,882,135
Wi
= 1 49, 016, 972
BTk X=giiv oy
= 1 21, 881, 651
R 5]
= 1 70, 898, 623
— e
= 1 12,651, 119
W ZRER
= 1 16, 346, 258
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tk
= 1 99, 896, 000
THE B 2 %8
= 1 9, 989, 600
TG
= 1 109, 885, 600
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T FEHERE
= 1 39, 594, 806
JE T
= 1 361, 660
I L
= 1 33, 310
I +H
m3 100 333.1 33, 310
2N
= 1 328, 350
PR (L) B -
m3 50 6, 567 328, 350
LR
= 1 652, 510
TA77 v MR EEA & T
= 1 652, 510
NoyFur OERLET 2770 MEA 4 (13FH) &
MA
t 10 65, 251 652, 510
Pk A iE ) T
= 1 1, 226, 650
LI
= 1 1, 226, 650
5 CT-B300-L500
e 100 2,971 297, 100
5 SG2T-300-1995
e 50 18, 591 929, 550
fo N
= 1 72, 150
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
fE N
= 1 72, 150
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 10 7,215 72, 150
5 e At L
= 1 2, 289, 785
FEARI B AT 1
= 1 708, 150
=8 V= Gr=A-4E(J" =77 79)
m 50 14, 163 708, 150
5 1E Al T
= 1 1, 581, 635
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 70 11,138 779, 660
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 70 9,933 695, 310
EMZARNEEN ¢ 100 L=200
L 15 7,111 106, 665
TR L
= 1 1,601, 145
N T
= 1 1,601, 145
TR VARY VA PANNY VAR G
e 15 106, 743 1,601, 145
T A R A% 1
= 1 2, 459, 740
B AT R L
= 1 2, 459, 740
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
AR e e DLSA-5 (= Hdt5A) J i 55
ZN 40 17, 157 686, 280
TR R AT DLSA-5 (27— MaEA (R FLETe)) J
Tl S5
ZN 40 21,951 878, 040
HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
ZN 20 21, 486 429, 720
HLHR 53 AT H=650 w] 282 (ZR FL2C- LACHD)
ZN 20 23, 285 465, 700
AnT=h L
= 1 3,927, 250
Wik e 1
= 1 3,927, 250
fEE LA &Y Y 0 AETIE~ RS 0. 25m3
K Vvt hevin kv - 8k
7 B i LR AT
&) 5 785, 450 3,927, 250
R
= 1 8, 375, 650
AT
= 1 138, 850
TR BCA
m2 500 277.7 138, 850
e
= 1 8, 236, 800
R A A
m2 300 27, 456 8, 236, 800
(LSS
= 1 1, 668, 500
Bty ) -}
= 1 1, 668, 500
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Favy)-h 18-8-40BB W/C=65% t=10cm
m2 500 3,337 1, 668, 500
SRR T
= 1 10, 888, 816
ISR UBE
= 1 10, 888, 816
AR — AR
FRE 1, 000 3,944 3, 944, 000
AR — AR
(&)
FRE 100 5,917 591, 700
FEEREZER
FRE 100 3,623 362, 300
FEEREZER
(&)
FRE 10 5, 434 54, 340
WEEER
FRE 900 3,083 2, 774, 700
WEEER
(&)
FRE 450 4,625 2,081, 250
A SR 2tHE
FRE 200 1,791 358, 200
A SR 458
FREH 100 2,717 271, 700
Ny s (v-v ) AtFE 2.9t
FREH 100 3, 042 304, 200
FAM 2000cc
FRE 100 1,384 138, 400
KRR 7 0 £250mm £ E5FE 10m
H 40 128.4 5,136
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THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
FE R 3KVA
H 5 578. 1 2,890
&ML T
= 1 892, 590
5 3 A 2= 1
= 1 497, 390
B s (™ —=h v-n) Gr-A-4E
m 100 1,439 143, 900
B s (™ —=h v-n) Gr-B-2B
m 100 1,736 173, 600
[T CRERT - S5 74 B LA s | P1-1. 1-3. OF
m 100 1,100 110, 000
[T CRERT - S5 74 B LA s | P1-1. 1-3. 0B
m 100 698.9 69, 890
Pk IE i T
= 1 212, 300
R = ES PUT-B300-1.2000
m 100 2,123 212, 300
B AT R e R S T
= 1 182, 900
HURR S AT ZEFLEC (LA
ZN 100 1, 829 182, 900
e
= 1 5, 178, 360
RImE T
= 1 2, 744, 670
i ek g = 120 A H
A
= 1 2, 245, 080
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THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
S i A
B
= 1 499, 590
RIEE BT
&
= 1 2,433, 690
ZRFE AR B 60 A H
A
= 1 1, 684, 140
S i oA
B
= 1 749, 550
B T HE
= 1 39, 594, 806
B ST e ¢
= 1 5, 043, 607
B ST ¢
= 1 466, 506
BUGERRYGEE (5 1)
= 1 466, 506
MR R (L)
= 1 4,577, 101
Wi
= 1 44, 638, 413
BTk X=giiv oy
= 1 20, 226, 815
R 5]
= 1 64, 865, 228
— e
= 1 11,703, 127
W ZRER
= 1 13, 362, 645
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tk
= 1 89, 931, 000
THE B 2 %8
= 1 8,993, 100
TG
= 1 98, 924, 100
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